Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018 By the order of Examination committee, the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018

Date : JULY-2018

SESSION	N : 2017-2018 CLASS :	BBA		BR	ANCH	: MAN	AGEME	NT				SEN	NESTER	R / TRIMI	ESTER	: SUMI	MER		MONTH	H OF EXAM	: JUNE	-2018
		U	BBA	1001(3)	BBA1	003(3)	BBA	1004(2)	BBA	1005(3)	BBA	1007(3)	BBA	1009(3)	BBA2	2005(3)	BBA3	001(3)				
ROLL NO	NAME	L	BBA3	003(3)	BBAS	3005(3)	BBA	3009(2)	BBA4	4003(3)	BBA4	1005(3)	BBA	5003(3)	BBAS	5009(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4506/15	SHANTANU GIRDHAR	U	С	15.0	F	0.0	-	-	В	18.0	-	-	В	18.0	-	-	-	-	51.0	12.0	4.25	
BBA/4300/13		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51.0	12.0	4.25	
BBA/4514/15	KUNAL GAURAV	U	-	-	F	0.0	-	-	-		С	15.0	С	15.0	В	18.0	-	-	48.0	12.0	4.00	_
		L	-	-	<u> </u>	-	-	-	-	-	<u> </u>		-	-	-	<u> </u>	-	<u> </u>				
BBA/4518/15	SUMIT RAI	U	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	F	0.0	15.0	12.0	1.25	-
		L	-	-	-	-	-	-	F	0.0	-	-	-	-	С	15.0	-	-		<u> </u>		
BBA/4519/15	YASHAGARWAL	U	-	<u> </u>	<u> </u>	-	-	<u> -</u>	-	<u> </u>	<u> </u>	<u> </u>	<u> </u>	-	-	<u> </u>	-	<u> -</u>	18.0	3.0	6.00	-
			-	-	-	-	-		-	-	- C	- 15.0	B	18.0 18.0	-	<u> </u>	-	<u> </u>		<u> </u>		
BBA/4520/15	SIDHANT SACHDEVA		-	-	-		-	<u> </u>	-	-		15.0		18.0	-		-	<u> </u>	33.0	6.0	5.50	-
			-	-	 	21.0	-		-	-	-		<u> </u>	-			-				1	
BBA/4521/15	RITHIK SHARMA	H				- 21.0			<u> </u>										21.0	3.0	7.00	-
					С	15.0					<u> </u>			1				<u> </u>			1	
BBA/4528/15	ANANYYA SRIVASTAVA		-	-		- 13.0			-				15.0	3.0	5.00	-						
		L	-	-	-		-		-	-		12.0		15.0	-		-	<u> </u>				
BBA/4537/15	AMANDEEP		-	-		15.0	-			15.0		- 12.0		- 13.0			-		57.0	12.0	4.75	-
			-	-	-	-		<u> </u>	-	-	-		<u> </u>	<u> </u>	-		-	<u> </u>			1	
BBA/4546/15	SHIRIN SOFIA		-	-	-	- 1	-	<u> </u>	-	-	C	15.0	-	<u> </u>	-		-		15.0	3.0	5.00	-
		U	-	-	F	0.0	-	-	-	-	-	- 1	-	i -	В	18.0	-	<u> </u>				
BBA/4547/15	KUNAL SIROHI	L	-	-	- 1	-	С	10.0	-	-	- 1	- 1	-	-	- 1	- 1	-	<u> </u>	28.0	8.0	3.50	-
		U	-	-	D	12.0	-	-	-	-	D	12.0	С	15.0	-	-	-	-			4.00	
BBA/4551/15	ABHAY KUMAR SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	39.0	9.0	4.33	-
BBA/4555/15	SRIJAN DADHICH	U	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	00.0	3.0	0.00	
BBA/4000/10		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	5.0	0.00	
BBA1001(3) BBA1003(3) BBA1004(2) BBA1005(3) BBA1007(3) BBA1009(3) BBA2005(3) BBA2001(3)	3(3) : BUSINESS STATISTICS BBA3005(3) : LEGAL ASPECTS OF MGT. 4(2) : BUSINESS COMMUNICATION-I BBA3009(2) : FINANCIAL ACCOUNTING 5(3) : BUSINESS ECONOMICS BBA4003(3) : FINANCIAL ACCOUNTING 5(3) : INTRO. TO BUSINESS ACCOUNTING BBA4005(3) : FUNDAMENTALS OF COMPUTING BBA4005(3) : 5(3) : FUNDAMENTALS OF COMPUTING BBA5009(3) : INTRENATIONAL TRADE & BUSINESS Computing 5(3) : BBA5009(3) : STRATEGIC MANAGEMENT Computing Computing 5(3) : BBA5009(3) : STRATEGIC MANAGEMENT Computing Computing																					

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer

Date : JULY-2018

Controller of Examinations

Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018 By the order of Examination committee, the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018

SESSION : 2017-2018 CLASS : BBA BRANCH : MANAGEMENT SEMESTER / TRIMESTER : SUMMER MONTH OF EXAM JUNE-2018 BBA1001(3) BBA1003(3) BBA1005(3) BBA1007(3) BBA3001(3) BBA1004(2) BBA1009(3) BBA2005(3) L TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS BBA3003(3) BBA 3005(3) BBA3009(2) BBA4003(3) BBA4005(3) BBA5003(3) BBA5009(3) POINTS CREDITS GR. PT. PT. GR. PT. PT. PT. PT. GR. PT. GR. PT. GR. GR. GR. GR. U -F 0.0 _ -D 12.0 D 12.0 _ _ -F 0.0 --2.00 BBA/4556/15 RAJ SHEKHAR SINHA 24.0 12.0 -------_ ---------С D 12.0 15.0 U --_ ---------BBA/4557/15 SHADAN AHMAD 54.0 12.0 4.5 -С 15.0 D 12.0 ------------F 0.0 lυ -_ -_ ----------BBA/4558/15 RAJNISH KUMAR GUPTA 00.0 3.0 0.00 -----------------U ----А 16.0 ------_ ---NITISHA KUMARI BBA/4568/15 16.0 2.0 8.00 -----------------U ----------------BBA/4572/15 LAKSHIT SAINI 00.0 3.0 0.00 -F ----_ -0.0 ------: GENERAL PRINCIPLES OF MGT : HUMAN RESOURCE MGT. BBA1001(3) BBA3003(3) BBA1003(3) BBA3005(3) : LEGAL ASPECTS OF MGT. BUSINESS STATISTICS BBA1004(2) : BUSINESS COMMUNICATION-I BBA3009(2) : FINANCIAL ACCOUNTING BBA1005(3) : BUSINESS ECONOMICS BBA4003(3) MANAGEMENT AND CONTROL OF COST BBA1007(3) BBA4005(3) FUNDAMENTALS OF OPERATIONS RESEARCH

: INTRO. TO BUSINESS ACCOUNTING

BBA1009(3) : FUNDAMENTALS OF COMPUTING BBA2005(3) : BASICS OF FINANCIAL MGT

: RESEARCH METHODOLOGY BBA3001(3)

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

: STRATEGIC MANAGEMENT

INTERNATIONAL TRADE & BUSINESS

BBA5003(3)

BBA5009(3)

Date : JULY-2018

Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018 By the order of Examination committee , the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018

: BUSINESS COMMUNICATION-II

: OFFICE MGT

BBA2009(3)

BBA2011(2)

SESSION : 2017-2018 CLASS : BBA BRANCH : MANAGEMENT SEMESTER / TRIMESTER : SUMMER MONTH OF EXAM JUNE-2018 BBA1001(3) BBA2001(3) BBA2003(3) BBA2009(3) BBA2011(2) BBA1005(3) BBA1007(3) BBA2005(3) TOTAL CREDIT TOTAL ROLL NO NAME SGPA REMARKS POINTS CREDITS GR. PT. U _ _ --_ _ _ -F 0.0 F 0.0 B+ 21.0 А 16.0 BBA/4526/15 SHARAT KAUL 37.0 11.0 3.36 -----------------С С 21.0 B+ 21.0 15.0 15.0 υl B+ --------BBA/4576/15 ARSALAN ALI NAQVI 72.0 12.0 6.00 -----------------BBA1001(3) : GENERAL PRINCIPLES OF MGT -BBA1005(3) : BUSINESS ECONOMICS -BBA1007(3) : INTRO, TO BUSINESS ACCOUNTING BBA2001(3) : ORGANIZATIONAL BEHAVIOUR BBA2003(3) : QUANTITATIVE TECH. IN MGT. BBA2005(3) : BASICS OF FINANCIAL MGT

Controller of Examinations

Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018

IE

By the order of Examination committee, the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018

Date : JULY-2018

SESSION	: 2017-2018 CLASS : H	BBA		BRAN	NCH :	MANA	GEME	NT			S	EMEST	ER / TR	IMESTE	R :	SUM	MER		MONT	H OF EXAM	: JUN	E-2018
ROLL NO	NAME	U L	BBA3	-	BBA3	-	BBA3	3011(3) -		4007(3) -	BBA4	-	BBA4	-	-		-	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DDA/4524/16	UDAYAN MALVIYA	U	В	18.0	F	0.0	Α	24.0	-	-	-	-	-	-	-	-	-	-	42.0	8.0	5.25	
BBA/4334/10	ODATAN MALVITA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42.0	8.0	5.25	-
DDA/4566/16	SHUBHAM KUMAR	U	С	15.0	-	-	-	-	В	18.0	B+	21.0	B+ 21.0		-	<u> </u>	-	-	75.0	12.0	6.25	
BBA/4300/10		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	/5.0	12.0	0.25	-
BBA3007(3)	: INTRODUCTION TO FINANCIAL N	/ARI	KETS			-		:														
BBA3009(2)	: FINANCIAL ACCOUNTING : PRINCIPLES OF MARKETING II					-		:														
BBA3011(3) BBA4007(3)	: INTRODUCTION TO MATERIALS	MAN	AGEMI	ENT ANI)	-		:											Ct	ander	1.	
BBA4009(3)	: PRODUCTION MANAGEMENT					-		:														
BBA4011(3)	11(3) : SALES AND DISTRIBUTION MANAGEMENT - : Controller of Examinations : BUSINESS ETHICS - : Controller of Examinations																					
- : -																						
									Disclair	ner												

SESSIC	ON : 2017-2018 CLASS : E	BA		E	BRANCH	: MANA	GEMENT						SEMES	TER / TRI	MESTER	: SUMN	1ER		MO	NTH OF EXAM	: JUNE-2	2018
		U	BBA	1001(3)	BBA	1003(3)	BBA	1004(2)	BBA	1005(3)	BBA1	007(3)	BBA	1009(3)	BBA	2003(3)	BBA	2005(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	BBA: GR.	2007(3) PT.	BBA2011(2) GR. PT.		BBA GR.	.3001(3) PT.	BBA GR.	3003(3) PT.	BBA3 GR.	005(3) PT.	BBA: GR.	3007(3) PT.	GR.	- PT.	GR.	- PT.	POINTS	CREDITS	SGPA	REMAR
BBA/4501/16	AASHI CHOJJAR	U	-	-	<u> </u>	-	<u> </u>	<u> </u>	<u> </u>	<u> </u>	Ŀ	-	-	-	-	-	B+	21.0	21.0	3.0	7.00	-
BBA/4519/16	DIVYANSH BHATIA	L U	-	-	- F	- 0.0	-	-	B	- 18.0	- C	- 15.0	- C	- 15.0	-	-	-	-	48.0	12.0	4.00	
		L	-	-	<u> </u>	-	<u> -</u> -	<u> </u>	<u> -</u>	<u> </u>	-	-	-	-	-	-	-	<u> </u>				
BBA/4528/16	HARSH KAUSHIK	L	-	-	-	-	-	-	<u> </u>	-	<u> </u>	-	С	15.0	-	-	-	-	15.0	3.0	5.00	
BBA/4529/16	ADITI NAGAR	U L	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	В -	- 18.0	-	-	18.0	3.0	6.00	-
BBA/4533/16	MAYANK MEHTA	U L	-	-	-	-	<u>-</u>	-	<u> .</u> .	-	-	-	-	-	B -	18.0	-	-	18.0	3.0	6.00	-
BBA/4543/16	SHIKHAR KUNDRA	U L	-	-	-	-	-	-		-		-	-	-	D	12.0	-	-	12.0	3.0	4.00	-
BBA/4557/16	ADARSH NAYAN	U	-	-	-	-	-	-		-	-	-	-	-	-	-	-	-	63.0	12.0	5.25	-
		L U	-	-	-	-	B+	21.0	В -	18.0	D -	12.0	D -	12.0	-	-	-	-				
BBA/4560/16	UTKARSH BISHT	L U	В	18.0	-	-	-	-	- -	-	-	-	-	-	- D	- 12.0	-	-	18.0	3.0	6.00	-
BBA/4562/16	SANA MALANG	L	-	-	-	-	-	-	<u> </u>	<u> </u>	-	-	В	18.0	-	-	-		30.0	6.0	5.00	
BBA/4563/16	SAKET MANGLAM	U L	C -	- 15.0	-	-	<u>-</u>	-	С -	15.0	-	-	D -	12.0	-	-	-	-	42.0	9.0	4.67	-
BBA/4575/16	MOHIT DADHICH	U L	- C	- 15.0	-	-	-	-	С	15.0	-	-	D C	12.0 15.0	-	-	-	-	57.0	12.0	4.75	-
BBA/4578/16	PRAVEEN BALYAN	UL	-	-	- B	- 12.0	- F	- 0.0	į.	-	- D	-	- B	-	-	-	-	-	42.0	11.0	3.82	-
BA1001(3) BA1003(3) BA1004(2) BA1005(3) BA1005(3) BA1009(3) BA2003(3) BA2005(3)	GENERAL PRINCIPLES OF MANAGEMENT BUSINESS STATISTICS BUSINESS COMMUNICATION -I BUSINESS ECONOMICS INTRODUCTION TO BUSINESS ACCOUNTIN FUNDAMENTALS OF COMPUTING QUANTITATIVE TECHNIQUES IN MANAGEM BASICS OF FINANCIAL MANAGEMENT	Ĵ		<u>. </u>		BBA2(BBA2(BBA3(BBA3(BBA3(- -	007(3) 011(2) 001(3) 003(3) 005(3)	1 <u> </u>	OFFICE RESEA HUMA LEGAL INTRO	PLES OF M MANAGI RCH MET N RESOUR ASPECTS DUCTION	ARKETI EMENT HODOLOO CE MAN OF MAN	NG I GY AGEMENT AGEMENT	Г Г	10.0		<u> </u>	_	<u> </u>	Controll	er of Examination	15	I <u></u>

Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018 By the order of Examination committee , the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018 Date : JULY-2018

Disclaimer

Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018

IE

By the order of Examination committee , the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018

Date : JULY-2018

SESSION	N : 2017-2018 CLASS :	BRA	ANCH	: MAN	AGEM	ENT				SEME	STER	TRIME	STER	: SUN	IMER		MONTH	OF EXAM	: JUN	E-2018		
ROLL NO	NAME	U L	BBA1 BBA2	001(3) 007(3)		003(3) 011(2)		1004(2) 3001(3)		. ,	BBA1 BBA3	()		.009(3) 3007(3)	BBA2	003(3)	BBA2	005(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4579/16	ANIVIT DAO	U	-	-	F	0.0	B+	14.0	-	-	-	-	С	15.0	-	-	F	0.0	29.0	11.0	2.64	
BBA/43/9/10	ANKII KAO	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	29.0	11.0	2.04	-
DDA/4500/16		U	-	-	F	0.0	-	-	B+	21.0	-	-	-	-	F	0.0	-	-	21.0	9.0	2.22	
BBA/4390/10	VISHNU HARI KUMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	21.0	9.0	2.33	-
DD 4 /4502/16		U	-	-	F	0.0	-	-	-	-	F	0.0	-	-	-	-	-	-	00.0	6.0	0.00	
BBA/4593/16	AKSHAY SHARMA	L	- 1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	6.0	0.00	-
BBA1001(3) BBA1003(3) BBA1004(2) BBA1005(3) BBA1007(3) BBA1009(3) BBA2003(3)		BBA BBA BBA BBA	2007(3) 2011(2) 3001(3) 3003(3) 3005(3) 3007(3)	:	OFFI RESE HUM LEGA	CE MAN ARCH N AN RES AL ASPE	OF MA NAGEM METHO OURCE CTS OF ION TO	ENT DOLOC MANA MANA	FY AGEME AGEME		TS				Controller	ndey.	tions					

BBA2003(3) QUANTITATIVE TECHNIQUES IN MANA BBA2005(3) : BASICS OF FINANCIAL MANAGEMENT

Disclaimer

								SEN 1004(2) BBA1005(3) BBA1007(3)								bolinin			MONTH OF EXAM : JUNE-2018				
ROLL NO	NAME	U L	BBA1	-	BBA1	-	BBA	-	BBA	-	BBA	-	BBA	-	-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARK	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BBA/4512/17	SIDDHARTH CHAUHAN	U	-	-	F	0.0	-	-	-	-	D	12.0	С	15.0	-	-	-	-	27.0	9.0	3.00	-	
		L	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	<u> </u>	-	-	-	_,				
BBA/4514/17	AAKASH KUMAR DIWAKAR	U	B+	21.0	-	-	-	-	<u> </u>	-	-	-	-	-	-	-	-	-	21.0	3.0	7.00	-	
		L	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	-	-	-	-					
BBA/4520/17	ANIKET RAY	U	D	12.0	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	27.0	6.0	4.5	-	
		L	- D	- 18.0	-	- 12.0	-	-	- C	- 15.0	- D	- 18.0	-	-	-	-	-						
BBA/4531/17	ROHIT SHARMA	U	В	18.0	D	12.0	-	-	C	15.0	В	18.0	-	-	-	-	-	-	63.0	12.0	5.25	-	
		U	В	18.0	C	15.0	B+	14.0	A	24.0	-	-	-	-	<u> </u>	Ľ-	-						
BBA/4541/17	GAURAV KUMAR	L		18.0	-	-	-	-	-		-	-	-	-					71.0	11.0	6.45	-	
		U		-		-	-	-	С	15.0	-	-	-	-		-	-	-					
BBA/4542/17	RAGHAV ARORA	L	- 1	-	-	-	-	-	1	-	-	-	-	-	<u> </u>	-	-	-	15.0	3.0	5.00	-	
		U	С	15.0	F	0.0	-	-	<u> </u>	-	-	-	-	-	- I		-	-					
BBA/4554/17	AYUSH SINGH	L		-		-	-	-	<u> </u>	-	-	-	-	-	<u> </u>	<u> </u>	-	-	15.0	6.0	2.50	-	
		U	-	-	-	-	-	-	B+	21.0	С	15.0	-	-	-	- I	-	-					
BBA/4558/17	SIMRAN SINGH	L	- 1	-	-	-	-	-	<u> </u>	-	-	-	- 1	-	<u> </u>	- T	-	-	36.0	6.0	6.00	-	
		U	-	-	D	12.0	-	-	-	-	-	-	-	- 1		-	-	-					
BBA/4560/17	AKANSHA SINHA	L	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	-	-	-	-	12.0	3.0	4.00	-	
BBA/4561/17	SHREYA	U	Α	24.0	-	-	-	-	Α	24.0	-	-	-	-	-	-	-	-	48.0	6.0	8.00	_	
BBA/4501/17	SIRETA	L	-	-	-	-	-	-	- 1	-	-	-	-	-	-	-	-	-	48.0	0.0	8.00	-	
BBA/4565/17	MAHIMA GUPTA	U	A+	27.0	-	-	-	-	B+	21.0	D	12.0	-	-	-	-	-	-	60.0	9.0	6.67	_	
BB12 1000/17		L	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	-	-	-	-	00.0	,	0.07		
BBA/4579/17	PRINCE YADAV	U	-	-	-	-	A	16.0	<u> </u>	-	-	-	-	-	-	-	-	-	16.0	2.0	8.00	-	
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-					
1001(3) 1003(3) 1004(2) 1005(3) 1007(3) 1009(3)	: GENERAL PRINCIPLES OF MANAGEMENT : BUSINESS STATISTICS : BUSINESS COMMUNICATION -I : BUSINESS ECONOMICS : INTRODUCTION TO BUSINESS ACCOUNTING : FUNDAMENTALS OF COMPUTING :					- - - -		::											Contra	Pandey.	ons		

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018 By the order of Examination committee, the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018 Date : JULY-2018

Disclaimer

Reference : EXAM / JPP / BITIC / NOIDA / BBA-SUMMER / (SS/18) / 2017-2018

-

By the order of Examination committee, the following is the result of BBA - SUMMER Semester held in the month of JUNE-2018

Date : JULY-2018

SESSION	: 2017-2018 CLASS	: BBA		BRAN	NCH :	MANA	GEMEN	T			S	EMESTI	STER / TRIMESTER : SUMMER						MONT	H OF EXAM	: JUN	E-2018
ROLL NO	NAME	U L	BBA	-	BBA1	-	BBA1	- 004(2)	BBA1	-	BBA1	-	BBA1	-	-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DDA/4581/17	YASH MISHRA	U	С	15.0	С	15.0	Α	16.0	С	15.0	-	-	-	-	-	-	-	-	61.0	11.0	5.55	
BBA/4581/17	I ASII MISIIKA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	01.0	11.0	5.55	-
BBA/4584/17	ABHA PRASAD	U	-	-	В	18.0	-	-	-	-	-	-	С	15.0	-	-	-	-	33.0	6.0	5.50	
BBA/4384/17	ADHA FRASAD	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55.0	0.0	5.50	-
BBA/4587/17	DIVYANK PILWAN	U	-	-	-	-	A+	18.0	-	-	-	-	-	-	-	-	-	-	18.0	2.0	9.00	_
BBA/458//17		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	18.0	2.0	9.00	-
PPA/4506/17	SANCHIT SAXENA	U	B+	21.0	D	12.0	-	-	-	-	С	15.0	D	12.0	-	-	-	-	60.0	12.0	5.00	
BBA/4390/17	SANCHIT SAAENA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	12.0	5.00	-
BBA/4598/17	HARSH VIKRAM TRIVEDI	U	-	-	-	-	-	-	D	12.0	D	12.0	-	-	-	-	-	-	24.0	6.0	4.00	
BBA/4398/17		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	0.0	4.00	-
BBA/4599/17	SHUBHAM KUMAR SONI	U	D	12.0	F	0.0	-	-	-	-	D	12.0	D	12.0	-	-	-	-	36.0	12.0	3.00	
BBA/4399/17	SHUBHAM KUMAR SONI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	12.0	5.00	-
BBA1001(3) BBA1003(3) BBA1004(2) BBA1005(3) BBA1007(3) BBA1009(3) -	: BUSINESS STATISTICS - : : BUSINESS COMMUNICATION -I - : : BUSINESS ECONOMICS - : : INTRODUCTION TO BUSINESS ACCOUNTING - :																					
									Disclain	ner												